AQAEKATH MATKYMPIA AOTIZTIKH OAYMIMIAAA 2016

ENINEAO 1

(15 o€Aideg30 epwTHOEIG)

INSTRUCTIONS TO CANDIDATES
OAHTIEZ MPOZ TOYZ AIAFQNIZOMENOYZ

For each question, choose and circle the best answer A, B, C, or D, using the
answer sheet provided.

MNa kKGBe epwtnon, TMAEETE KAl KUKAWOTE TN KOAUTEPN atravinon A, B, T A A
XPNOIMOTTOIWVTAG TO €I0IKO QUAAO yIa TIG ATTAVTACEIG 0AG.

© ©©® G O0OO0OD L UCK © © ©
KAAH ENITYXIA

1. The first accounting equation can be written as:
(A) Assets — liabilities = closing capital
(B) Liabilities + Assets = opening capital

© Assets — liabilities = profit
(D) Opening Capital — liabilities = assets

1. H rpwTtn AoyIoTIKN €§icwon ptropei va ypa@Ttei wg £§AG:

(A) EvepynTikad — TaOnTiK& = TEANIKO KEQAAQIO

(B) MadnTika+ EvepynTika= apxIKO Ke@AAAIO

(N EvepynTikd — TaBnTIKG = KEPDOG

(D) ApxIk6 Ke@aAalo — TTaONTIKA = EvepynTika

2. Which of the following are correct?
Accounts To record Entry in the account
() Assets An increase Debit
A decrease Credit
(i)  Capital An increase Credit
A decrease Debit
(iti)  Liabilities A decrease Debit
An increase Credit

(A) () and (i)
(B) (i) and (iii)
(© () and (ii)
(D)  All the above are correct



2.

Mola atrdé Ta akéAouBa gival opB4;

Aoyaplaouoi

Mo va ypdaweic

Evypa®n oto Aoyapiaocuod

(1) Evepynrika Augnon
Meiwon

(m)  KegpaAaio Augnon
Meiwon

(m)  Madnmika Meiwon
AlGgnon

(A) (i) xar (i)

(B) (i) kou (i)

() ar (i)

(A)  OAa cival opBa

Xpéwon
MicTwon
Miotwon
Xpéwon
Xpéwon
MicTwon

The following information has been extracted from a Statement of
Financial position (balance sheet) at 31 December 2015.

Non-Current Assets (Fixed assets)
Capital Balance at 1 Jan 2015
Long — term loan

Profit for the year

Drawings

Trade payables (Creditors)

€125,000
€150,000
€5,000
€25,000
€10,000
€15,000

What was the Working Capital at 31 December 20157

(A) € 60,000
(B) € 50,000
(C) € 45,000

(D) €185,000

O1 rapakdTw TTAnpo@opicg Exouv e§axBei amod éva katdoTaon
XPNHOTOOIKOVOUIKNG 0€ong (1c0Aoyiopo) Tnv 31 Aekepppiou 2015.

Mn-kukAogopiako (Mayio) Evepyntikd

ApxIk6 KepdaAaio 1 lav 2015
MakpotpdBeopo Adveio
Képdog £Toug

ATTOAAYEIG

MoTwTéEg

€125,000
€150,000
€5,000
€25,000
€10,000
€15,000

Molo ATav 1o UTTOAOITTO TOU KEPaAaiou Kiviioewg Tnv 31 Aekeuppiou 2015;

(A)  €60,000
(B)  €50,000
(N  €45,000

(A)  €185,000



The total of the Discount Received column which appears in a Three
Columns Cash Book (Payments side) is transferred to:

(A)  The Credit side of Discount Received account
(B) The Debit side of Trade payables account

(C)  The Debit side of Discount received account
(D)  The Credit side of Discount Allowed account

To abpoiocpa TnG oTAANG EkTrTwoeig AauBavopueveg rou BpiokeTal oTRV
TAEUpd TWV TTANPWHWYV Tou TpioTnAou BiBAiou Tapgiou petagépeTai:

(A)  Ztn mrioTwon Tou Aoyapiacuou ExkrTwoeig Aappavoueveg
(B) Ztn xpéwon Tou Aoyapiaopou MoTwTéEg

(D) 21N Xpéwaon Tou Aoyapiaouou EKTTwoelg Aaupavoueveg

(A)  Z1n TrioTwon Tou Aoyapiacuou EKTTTwoelg XopnyoUuEVES

You are given the following transaction:

The proprietor took goods from the business for his private use. Which
is the correct way to record the above transaction into the business’s
accounting books?

Account to be debited Account to be credited
(A) Capital Purchases
(B) Drawings Purchases
© Drawings Bank
(D) Purchases Capital

2ag SideTal n mo KATW cuvaAAayi:

O emiXeipnUaATIOG TTAPE EPTTOPEUPATA ATTO TNV ETTIXEIPNON YIA
TMPOOWTTIKA TOU Xpion. H cwoTh eyypaen yia Kataxwpnon Tng
ouvaAAayng autrg ota BiBAia Tng emIXeEipnong givai:

Aoyaplaopog rou Ba xpewoei Aoyapilacpuog rou Oa TICTWOEI
(A) KepdAaio Ayopég
(B) ATOMIKEG aTTOANWEIG Ayopég
(D) ATOUIKEG ATTOANWEIG Tpameda
(D) Ayopécg KegpaAaio

When final statements are prepared, the Bad Debts Recovered account
is closed by a transfer to the:

(A)  Debit side of Trade receivables (Debtors) account
(B) Credit side of Profit and Loss account

(C)  Debit side of Profit and Loss account

(D) Debit side of Bad Debts account



Otav eToipddovral ol TeAIKEG KaTaoTdoelg, o Aoyaplaocudg Eiompagng
Alaypa@eicwyV aTaITACEWYV (AVAKTAOIJWY) Ba KAEioEl HETAPEPOUEVOG:

(A)  Z1n Xpéwon Tou AoyapiaopoU XPEWOTWV

(B)  Ztn Miotwon Tou AoyapiacuoU ATTOTEAECUATWY XPAOEWS
(D) 21N Xpéwon Tou AoyaplacpoU ATTOTEAEOUATWY XPHOEWGS
(A)  Ztn Xpéwoaon Tou NoyapiacpoU ATTWAEIEG XPEWOTWV

Agatha bought a dress costing €160, shoes costing €90 and a jacket
costing €150. These are all subject to a trade discount of 10% and a
cash discount of 5% if she pays within 30 days. How much will Agatha
pay, if she pays promptly, in settlement of her debt?

(A) €360
(B) €342
(C) €340
(D) €400

H Aya@a aydépaoce éva @opepa rou kKéoTioe €160, TTATTOUTOI10 TTOU
kKooTioav €90 kal pia JakéTa Trou KOoTioe €150. OAa auTd givai
OQVTIKEIPMEVO EPTTOPIKAG EKTITWONG 10% Kol TAMIOKAG EKTITWONG 5% £dv
aut) TAnpwoel o€ 30 nuépeg. NMoéoa Ba rAnpwoel n Ayaba, eav
TANPWOEI £YKAIPA, YIA TAKTOTTOINON TOU XPEOUG TNG;

(A) €360
(B) €342
(N €340
(A) €400

At the end of the accounting period, the balance on the Provision for
Depreciation account is

(A)  Credited to the profit and loss account

(B)  Debited to the depreciation account

(C)  Subtracted from the asset account

(D)  Subtracted from the cost of the asset in the Balance sheet

210 TEAOG MI0G AOYIOTIKNG TTEPIOSOU, TO UTTOAOITTO OTO Aoyaplacuod
mPOBAeYNGS via atréoBeon

(A) ThoTtwvetal oTo AoyapIoouO ATTOTEAEOUATWV

(B) Xpewveral aTto Aoyapiaoud amooBeon

(N  Agaipeital atrdé 10 Aoyapiaoud Tou eVEPYNTIKOU

(4)  Agaipeital a1t TO KOOTOG TOU EVEPYNTIKOU OTOV IGCOAOYIOHO



9. A bad debt previously written off is recovered in a later financial year.
The double entry to reinstate the debt in the accounts would be:

(A)  Debit the profit and loss account and credit the debtor’s account

(B)  Credit the bad debts recovered account and debit the debtor’s account
(C) Debit the bad debts account and credit the debtor’s account

(D)  Credit the bad debts account and debit the debtor’s account

9. Mia atrwAgia XpEOUG TTOU BIAYPAPNKE, EICTIPAXONKE OE HETAYEVECTEPO
OIKOVOMIKO £€10G. To dITTAOYpa@IKO oUOTNHA YIA ETTAVAQPOPA TOU XPEOUG
OTOUG Aoyapliaououg Ba

(A)  XpewBei 01O Aoyapiaoud ATTOTEAECUATWY Kal Ba TTIOTWOEI OTO
Aoyaplaoud XpeEWOTEG

(B) mmoTwOEei 01O Aoyaplacuo eI0TTPAEEIS DIAYPAPEICWY (AVOKTHOIUWY)
ATTAITAOEWV Kal Ba XpewOei 0TO Aoyaplaoud XPEWOTES

(D) XPEWOEei aTo Aoyaplaopud atTwAEIEG aTTd XPEWOTES Kal Ba TTIoTWOEI 0TO
Aoyaplaoud XpEWOTEG

(A)  mMOoTWOEI 0 AoyapIaouOG ATTWAEIEG ATTO XPEWOTEG KAl Ba XpewOEi 0
AoyapIaoudG XPEWOTEG

10.  Which of the following accounting documents is recorded to the sales
book?

(A) Invoice issue for goods sold on credit to a customer
(B)  Cash sales invoice issued to a customer for goods sold
(C)  Credit note for goods returned by a customer

(D)  Debit note for goods returned by a supplier

10. MMoio amd Ta TTAPAKATW AOYIOTIKA £yypaga KaTtaxwpeital oto BiAio
TWARCEWYV;

(A)  TigoAdyio TTou ekdGONKE yia TTWANCN EUTTOPEUMATWY UE TTIOTWON O€
TTEAATN

(B)  TigoAdyio TG HETPNTAG TTOU €KOOONKE € TTEAATN

(D) MOTWTIKA onUEiwon yIa ELTTOPEUNA TTOU £XOUV ETTIOTPAPET ATTO TTEAATN

(A)  XpewoTIKA onuEiwaon yia EUTTOPEUUATA TTOU €XOUV ETTIOTPAYPEI aTTO
TTPOMNBEUTH

11. Inthe Purchases Book we list:

(A) All purchases made by the firm

(B) The payments to Trade payables by the firm
© All credit purchases made by the firm

(D) All credit purchases of goods made by the firm



11. Zvo BiIBAio ayopwyv Kataypdgovrai:

(A)  OAeg o1 ayopég TNG €TTIXEIPNONG

(B)  O1 TANpwHEG OTOUG TTIOTWTEG TNG ETTIXEIPNONG

(M) OAeg o1 ayopég Pe TTIOTWON TNG ETTIXEIPNONG

(A)  OAeg o1 ayopEG EUTTOPEUPATWYV HE TTIOTWON TNG ETTIXEIPNONG

12.A business has the following items in it:

Buildings ??

Vehicles €600,000
Trade receivables (Debtors) €120,000
Trade payables (Creditors) €50,000

Bank Overdraft €40,000
Loans €500,000
Cash €30,000

Owners equity (Capital)  €1,000,000

What is the value of the Buildings?
(A) €1,000,000
(B) €1,550,000
(C) €840,000
(D) €750,000

[2. Mia emixeipnon £xel Ta MO0 KATW OTOIXEiA:

Kripia 5
AutokivnTa €600,000
XPEWOTEG €120,000
MoTwrég €50,000
MapaTtpdBnypa €40,000
Adveia €500,000
Taueio €30,000
KegpdAaio €1,000,000

Ti gival n agia TwV KTIpiWV;

(A) €1,000,000
(B) €1,550,000
() €840,000
(D) €750, 000



13.  Suzy sells chocolate cakes at €6 each and each one costs her €4 to buy.
During June 2015, Suzy bought 800 cakes and sold 750 cakes. Her expenses
amounted to €700 for the month. How much net profit did Suzy make in June

20157
(A) €700
(B) €600
(C) €800
(D)  €1,500

13. H Zouln TTwAei yAuKUOPaTa 0OKOAATAG TTPOG €6 TO KABE £va Kal TO KOOTOG
ayopdg cival €4 1o kabe éva. Kartd tn didpkeia Tou louviou 2015 n 2ouln
ayopaoce 800 yAukuoparta kal TTwAnoe 750. Ta £€¢oda Tou unvog nrav €700. Ti
gival To kaBapod képdog TnG To louvio 2015;

(A) €700
(B) €600
(N €800
(A) €1,500

14. If drawings of goods €18,000 made by an owner were treated as a
revenue expense, which of the following statements is correct?

(A) Gross profit will be understated by €18,000.

(B) Net profit will be understated by €18,000.

(C) Both gross and net profit will be understated by €18,000.
(D) Both gross profit and net profit will be unaffected

14. EAQv 0 €MIXEIPNMUATIOG EIXE TTPOCWTTIKEG ATTOANYWEIG ENTTOPEUNATWYV
€18,000 Ta otroia £éxouv xeipioTei oag AsiIToupyikd é§oda. Moid amd Ta
TTOPAKATW Eival CWOTO;

(A) To kT K€EPDOG Ba utToTIUNOEi KaTd €18,000

(B) To kaBapd kEpdog Ba utroTiunOei kata €18,000

(N Kai Ta duo, PIKTO Kal KaBapd KEPDOG, Ba uTToTINNBOUV KaTd
€18,000

(A) Kavéva atré 1a duo, JIKTO Kal KaBapod képdog, dev Ba
ETTNPEAOTEI

15. During the year ended 31 December 2015, the business made sales of
€45,000 and purchases of €25,000.Carriage inwards €1,000 and Returns
inwards €500. The inventory at the beginning of the year was valued at
€8,000 and, at 31 December, €4,500. The gross profit for the year was:

(A) €13,500
(B) €15,000
(C) €16,000
(D) €17,000



15. Kartd tn didpkela Tou £€Toug TTou TeAgiwoe Tn 31 Aekepppiou 2015 pia
emixeipnon eixe mwAnoeig €45,000 kai ayopég €25,000. Metagopikda
ayopwyv €1,000 ka1 eTioTpo@ég TTWAROEWYV €500. Ta apxikda
gutropeUpaTa TnG ixav agia €8,000 kai Ta TeAika €4,500. Ti ATav To
MEIKTO KEPDOG TNG;

(A) €13,500
(B) €15,000
(') €16,000
(A) €17,000

16. A business has paid telephone bills amounting to €21,500 during his
financial year, which ended on 30 September 2015. After the year end, he
receives a bill for the three months ended 31 October 2015 amounting to
€6,600. Which of the following is true?

(A) The business should accrue €4,400 for telephone expenses at the year end.
(B) The business should accrue €2,200 for telephone expenses at the year end.
(C) The business should accrue €25,900 for telephone expenses at the year end.
(D) The business will have pre-paid telephone expenses of €2,200 at the year end.

16. Mia emixeipnon Katd Tn d1dpKeIa TOU AOYIOTIKOU £€TOUG TTOU TEAEIWOE TV
30 ZetrrepBpiou 2015 TARPpwoe To TTOo0O TWV €21,500 yia THAEQWVIKOUG
Aoyaplaocpoug. Merda 1o TEAOG TOU AOYIOTIKOU £TOUG TTAPE £va
Aoyaplaouod yia TOug TPEIG TEAEUTAIOUG HNVEG TTOU TEAEiwoav
31 OkTwpRpiou 2015, yia €6,600.

Moi16 amrdé Ta akéAouba gival cwoTo;

(A) H emixeipnon Ba xpwoTd yia TNAEPWVIKA £€£00a oTo TEAOG Tou £Toug €4,400

(B) H emixeipnon 6a xpwaoTd yia TNAEQWVIKA £€£0da aTo TEAOG Tou £Toug €2,200

(M) H emyxeipnon Ba xpwoTd yia TNAEQWVIKA ££00a 010 TEAOG Tou £Toug €25,900

(A) H emixeipnon Ba éxel TpoTTAnpwoel TNAEQWVIKG £€00a OTO TEAOG TOU £TOUG
€2,200

17.  Which of the following payments is a capital expenditure?

(A) Money put into the business by the owner

(B) Purchase of a motor van

(C) Cost of servicing the motor van

(D) Money taken out by the owner of the business

17. Moia atrd TiIg aKOAoUBES TTANPWHEG gival KEQAAAIOUXIKO £§0050;

(A) O emxeipnuatiag eTEvOUoe Ae@TA OTN ETTIXEIPNON TOU
(B) Ayopaoe éva autokivnto

(M 'E¢oda ouvThpnong TOU AUTOKIVATOU

(A) O1810KTATNG TTAPE PETPNTA YIA TTIPOCWTTIKA TOU XPron



18.

18.

19.

19.

Soula has prepared her financial statements for the year ended 31
December 2015, which show a net profit of €20,000, current assets of
€134,400 and a total assets figure of €510,500.

Afterwards, she discovered that the inventory figure she used was
understated as she left out closing inventory valued at €10,100 from her
workings.

Which of the following statements is true?

(A) The revised current assets figure will be €124,300.

(B) The revised total assets figure will be €530,500.

(C) The value of closing inventory figure does not affect the profit for the year
or the net assets.

(D) The revised profit for the year should be €30,100.

H ZoUAd £TOIPOOE TIG OIKOVOMIKEG KATAOTACEIG TNG VIO TO £TOG TTOU
TéAeiwoe oTig 31 Aekeufpiou 2015, o1 otroieg £€de1§av KaBapo kéEPSog
€20,000, kukAogopika evepynTika €134,400 Kal CUVOAIKG EVEPYNTIKA
€510,500.

MeTd avakdAuye OTI TO TTOCO TWV TEAIKWYV EUMTTOPEUHATWY TTOU
XPNOIMOTTOIiNOE £XEI UTTOTIMNOEI £TTEIBN Oev EAaBE UTTOWN eUTTOPEUATA
agiag €10,100.

Moo atré Ta akéAouba gival cwoTo;

(A) Ta avaBbswpnuéva KUKAo@opiakda evepynTikd Ba eival €124,300

(B) Ta avaBswpnuéva ouvoAikd KUKAOQOpPIaKA evepynTiKa Ba cival €530,500

(M H agia Twv TEANIKWV EUTTOPEUNATWY OV ETTNPEACLEI TO KEPOOG TOU £TOUG I
Ta KaBapd evepynTIKG

(A) To avaBewpnuévo kEPdOG Tou £Toug Ba cival €30,100

Michael bought a machine for €50,000, which he expects to have a
useful life of five years and a residual value of €5,000 at the end of that
time. If depreciation is to be provided on the straight-line basis, the net
book value after three years will be:

(A) €23,000
(B) €32,000
(C) €20,000
(D) €18,000

O MixdAng ayoépaoe pia pnxavn yia €50,000 n oroia avapévere va €XEl
XPAoIuN {wn TévTe ETWV Kal atropgivaca agia €5,000. Eav n aréofeon
utroAoyileTe pe Tn oTaBepn péBodo, oia Ba gival n kaBapn agia Tng
MNXAVAG META aTTO Tpia Xpovia;

(A) €23,000
(B) €32,000
) €20,000

(
(A) €18,000



20.

20.

21.

21.

22.

If opening capital of a business was €27,000, ending capital is €18,000,
and the owner’s withdrawals were €5,000, then the amount of net
income or net loss for the period was:

(A) Netloss of €9, 000
(B) Netincome of €6,000
(C) Netincome of €4,000
(D) Net loss of €4,000

Av 10 apxIk6 ke@daAaio Arav €27,000, To TeAIKO gival €18,000 kai ol
TPOoowWTTIKEG atroAnyeig ATav €5,000, T6TE TO TTOOO TOU KABAPOU
KEPOOUG 1 {NMIAG YIa TO £TOG TAV:

(A) KaBapn ¢nuia €9, 000
(B) KaBapod képdog €6,000
(N KaBapd képdog €4, 000
(A) KaBapr ¢nuia €4, 000

A business operates its petty cash by using the imprest system.

The petty cash book is balanced at the end of each week and the cash
float restored by the grant cashier every Monday morning. At the start of
a particular week the cash float is €250. Petty cash vouchers for the
week total were €234.56. The Directors decided to increase the imprest
amount by €50. How much will the grant cashier pay to the petty cashier
for the reimbursement of petty cash book?

(A) €250.00
(B) € 15.44
(C) €234.56
(D) €284.56

Mia emixeipnon Xxpnoigotrolei 10 otaBepd ovoTnua AsiToupyiag Tou
MIKpOU Tapgiou. To HIKPO Tapgio e§icwveTal 010 TEAOG KABe Bdouadag
Kal TO amréBepa HeETPNTWV atrokaBiotaral amwd To PeEyAAo Tapia KABe
Agutépa mpwi. XTn apXn OUYKeEKPIMEVNG E£ROOMAdAGE TO ATTOBeua
peTpnTWV RATav €250. Ta evidApgata TTANPWHAS MIKPOTTOOWYV TNnG
eOopadag avépxovrar oe €234.56. O1 SiguBuvrtég atmropdcioav va
aufoouv 1o oTa0EPO TTOOd KaTd €50. TI gival TO TTOCO TTOU O PEYAAOG
Tapiag 8a TTANPWOoEl 0TO HIKPO TAMIa yia Tn avaBewpnon Tou HIKPOoU
TaMEIOU;

(A) €250.00
(B) €15.44
(N  €234.56
(A) €284.56

The following Trial Balance of S Smith (See below) contains a lot of
errors, although the arithmetical balances are correct. After correcting it,
what is the capital account balance?

10



22. To ak6AouBo looduyio Tou Z ZpiO (BAETTe TrivaKa) TrEPIEXEI TTOAAG AGON,
TTapd TO YEYOVOGS OTI apIlBunTIKA 6Aa Ta utréAolTra gival opBd. OTtav
O10pBwoOcei TI Ba €ival To uTTOAOITTO KEQAAQiou;

Trial Balance of S Smith
As at 31 December 2015

€ €
DR CR
Capital
Buildings 50,000
Motor Vans 30,000
Trade receivables 5,000
Trade payables 2,500
Bills receivable 5,000
Commission received 1,000
Returns inwards 1,500
Carriage inwards 600
Carriage outwards 700
Cash in hand 300
Bank overdraft 2,000
Selling expenses paid 700
Opening Inventory 2,500
Sales 40,000
Purchases 15,000
Provision for depreciation of
- Motor Vans 2,000

Bad debts 500
Drawings 3,000

(A) €57,300

(B) €64,300

(C) €67,300

(D) €62,300

23.  Which of the following transactions will be entered in the subsidiary
book of Journal?

(A) Sold goods on credit

(B) Goods purchased and paid by cheque

(C) Investment of a motor van made by the owner
(D) Purchases returned of goods

23. Moia a1ré 1Ig ak6AouBeg cuvaAAayég Ba KaTaxwpnBei oTo NUEPOASYIO;
(A) TTwWAACEIG EUTTOPEUPATWY HE TTIOTWON
(B) Ayopég euTTOpEUNATWY TTANPWVOVTAG JE ETTITAYA

(M) ETmévduon evdg QUTOKIVATOU TTOU ayOoPAOTNKE aTTO TOV IBIOKTATN
(A) EmOTpOQEC ayopwy EPTTOPEUNATWY

11



24.  Vasos bought two motor vans costing €20,500 each. They are
depreciated on the reducing-balance basis at the rate of 20% per annum.
Which of the following statements is true?

(A) The NBV of the vans after one year will be €32,800 and the depreciation charge
for year 2 will be €8,200.

(B) The NBV of the vans after two years will be €24,600 and the depreciation charge
for year 2 will be €6,560

(C) The NBV of the vans after one year will be €16,400 and the depreciation charge
for year 2 will be €8,200.

(D) The NBV of the vans after two years will be €26,240 and the depreciation
charge for year 2 will be €6,560

24. O Bdoog aydpaoce dUo autokivnTa K6oToug €20,500 TO KAOE €va.
AtrooBévovTtal pe Tn @Oivouoa péBodo e TooooTd 20% eTnoiwg. lMoid
a1rd Ta akéAouba gival op0o;

(A) HkaBapn aia Twv auTtokIVATWY WETA aTTd €va £T0¢ Ba eival €32,800 kai n
ammooBeon Tou deuTépou £Toug Ba eival €8,200.

(B) Hkabapn aia Twv autokIVATWY PETA atTd dUo £Tn Ba eival €24,600 kai n
amooBeon Tou deuTépou £Toug Ba gival €6,560.

(M  HkabBapn aia Twv autokIVATWY YETE aTTO €va £T0G Ba gival €16,400 kai n
ammoofBeon Tou deuTépou £Toug Ba gival €8,200.

(A) HkabBapn aia Twv autokIVATWY PETA atTd dUo £€Tn Ba eival €26,240 kai n
amooBeon Tou deuTépou £Toug Ba gival €6,560.

25. The trial balance at Louis’s year end shows trade receivables of
€21,900 and bad debts of €600 written off during the year. Which of
the following statements is true?

(A) The statement of profit or loss should include a bad debt expense of
€600 and trade receivables of €21,300 should be included on the
statement of financial position.

(B) The statement of profit or loss should not include bad debt expense and
trade receivables of €21,900 should be included on the statement of
financial position.

(C) The statement of profit or loss should not include bad debt expense and
trade receivables of €21,300 should be included on the statement of
financial position.

(D) The statement of profit or loss should include a bad debt expense of €600
and trade receivables of €21,900 should be included on the statement of
financial position.
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25.

26.

26.

27.

To 100Q0y10 ToUu AoUn oTo TéEAoG Tou £TOoUG deixvel XpewoTeg €21,900 kai
AaTTWAEIEG aTro XpewoTeG €600 TTOU Si1aypd@nKav KaTd Trn S1dpKEIa TOU
€Toug. Mo16 amrd Ta akdAouba gival cwoTo;

(A) Hkardotaon ammoTeAeOPATWY Ba CUPTTEPIAAUPBAVEI ATTWAEIEG ATTO
xpewoTeg €600, kal xpewoTeg €21,300 Ba ouuTtrePIAN@BOUY oTOV
ICOAOYIOUO

(B) Hkartdotaon amoteAeopdTwy dev Ba cupTTEPIAANPBAVEI ATTWAEIEG ATTO
XPEWOTEG Kal xpewoTeg €21,900 Ba ouptrepIAN@BoUV 0TOV IC0AOYIOUO

(M  HkardoTaon ammoteAeopaTWyY Oev Ba oUUTTEPIAGUBAVEI ATTWAEIEG ATTO
XPEWOTEG Kal xpewoTeg €21,300 Ba ouptrepIAN@BoUV 0TOV IC0AOYIONO

(A)  Hkartdotaon ammoteAeopdTwy 8a cupTTEPIAQUPBAVEI ATTWAEIEG ATTO
XpewoTeg €600, kal xpewoTeg €21,900 Ba cupTtrEPIAN®OOUV GTOV
IOOAOYIOUO

Eva has purchased a machine for €200,000. She will depreciate it either
at 25% on the fixed instalment basis or at 30% on the diminishing
balance method.

Which method will lead to the highest combined profits in the first two
years that the machine is owned?

(A)The straight-line method will lead to the highest combined profits.

(B) The reducing-balance method will lead to the highest combined profits.

(C) The choice of depreciation method does not affect the combined profit
figures.

(D) Both the straight-line method at 25% per annum and the reducing-
balance basis at 30% per annum will lead to the same combined profit
figure for the first two years.

H EVa ayépaoce éva pnxdavnua yia €200,000. Oa 1o atrooBEével €iTe Pe
25% oTalepn péBodo, | 30% pBivouoca péBodo.

Moia péBodog Ba TG dwoel To HeYAAUTEPO CUVOAIKS KEPDOG yia Ta dU0
TPWTA £TN 1I810KTNCIAG;

(A) H oTtabepn uéBodog Ba Tou dwael HEYOAUTEPO TUVOAIKO KEPDOG

(B) H ¢@bBivouoa péBodog Ba Tou dwoel HEYAAUTEPO OUVOAIKO KEPDOG

(C) H emAoyn NG peBddou atrdceong dev eTTNPEACEI TO CUVOAIKO KEPDOG

(D) H otaBepny néBodog pe 25% T10 €106 KAl N PBivouca pe 30% atrdoBeon Ba
dWoouV TO 010 GUVOAIKO KEPDOG yIa T OUO TTPWTA £TN

Which one of the following pairs of ledger accounts is Nominal
account?

(A)  Buildings and rent payable

(B)  Cashin hand and cash at bank

(C) Capital and Trade receivables (debtors)

(D)  Advertising and interest received
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27. Moi1dé atrd Ta akéAouBa {euyn AoyaplaocPwYV €ival ATTOTEAECUATIKOI
Aoyapiaopoi;

(A)
(B)
(r
(8)

28. The following account contains a number of wrong entries:

KTipia kal evoikia TTAnpwTéQ
MeTtpntd kai Tpatreda

Ke@aAaio Kal XpewoTeG
Ala@npioeig kal €00da aT1Td TOUG TOKOUG

Trade receivables (Debtors) Alc

1 Jan Balance b/d 14,000 | 15 Jan Sales- Credit 51,000
10 Jan | Bank 41,000 | 20 Jan Bad Debts 3,600
18 Jan | Returns inwards 600
Discounts
f)
10 Jan allowed 1,400 31 Jan Balance c/d :

What should the closing balance be once the errors are corrected?

(A) €19,600
(B) €18,400
© €14,800
(D) €19,400
28. O mmo kKatw Aoyaplaopudg ouptrepIAaupBdvel kdatroleg AavBaopéveg
EYYPOPEG:
AOIrAPIAZMOX XPEQITQN
1 lav | YméAoiro 14,000 | 15 lav | NW@ANoEIS- 51,000
mioTwon
10lav | Tpamela 41,000 | 20 lav Q"‘*’""‘F 3,600
PEWCTWV
181gv | EMOTPOPN 600
TTWARCEWYV
10 lav EK"qun 1,400 | 31 lav | YréAoitTo ?
Xopnyoupevn

Moi16 Ba gival To véo utréAoitro étav d1opOwOoUV Ta AGOn;

(A)
(B)
(©)
(D)

€19,600
€18,400
€14,800
€19,400

14




. Interest receivable accrued (due) would be shown on the balance sheet as:

(A) A current liability
(B) A current asset

(C) A non-current asset
(D) Capital

Tokol eioTTpakTéol o@eIAOpEVOl Ba eppavicOoUuVv oTov IC0OAOYIONO WG:

(A)  Kukho@opiko TTaBnTIKO
(B)  KukAoQOpIKO evEPYNTIKO
(D) Mayio evepynTikO

(A)  Kegdahaio

A purchases account will be found in the:

(A) Purchases ledger
(B) Private ledger
(C) Sales ledger
(D) General ledger

To Aoyaplacud ayopwyv eUTTOPEVUATWY Ba Tov BpeiTe OTO!:
A) KaBoAIKO ayopwv

B) T1poowTmko KaBoAikd
r)
A

KaBoAIKO TTwANOEWV
) YEVIKO KOBOAIKO
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